m 890 ADVENTURE R 2021 <2021><US><F9775U7>

FRONT BRAKE CALIPER

55726
Oy
=19 L
= — -
r-l
" @
Pos Part Number Description Additional Text Quantity

1 63713115000 Brake caliper, front left 1.00




2 63713116000 Brake caliper, front right 1.00
3 63713030000 Front brake pad 2.00
4 63513019000 Piston set 2.00
5 63613021000 Seal set 2.00
6 64113017000 Retaining spring set 2.00
7 0603100141 sealing ring DIN 7603 10x14x1 ONLY FOR LC4 4.00
ADVENTURE
8 62513020000 BLEEDER SCREW CPL. 05 2.00
9 00351005598 AH collar screw M10x1.25x55 s- 4.00
10 63542103000 Front brake line brake caliper 1.00
11 0025050106 HH collar screw M5x10 TX30 1.00
12 0025050166 HH collar screw M5x16 TX30 1.00
13 60113146000 SUPPORT FOR BRAKE HOSE M5 1.00
14 0985050003 Self locking nut DIN 985 M5 1.00




